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Were it not that Rabi Yochonon said; acquisition of the fruits, etc.

Overview

1AM °27 maintains that brothers who divided up their estate are considered as if they
are buyers who bought out their brothers for their share.' The X3 said that if 111 "3
would not maintain 17 7137 7°322 M0 1P we could not find anyone who could bring
011372 unless he was a YW 79 71 72 71.2 Our MooIN reconciles these two M%7 (of
11 MIMPR WP PR and M7 NINT IR IR? N0 1°Ip) according to how we rule.

nooIn asks:
= 9359299 93579 1INNN TON INY DN 129 NYWPH

The n''1 asked but how can ‘we find our hands and feet’ to reconcile these two rulings -
- (35 1 03 “NIND YWD 1909ANT T GINN 1237 INDT WIDY WD |9 NPT
For we have established the 7597 is like %''= that m17°0 13p is not like a7 12ap, as
the X7n3 states in the beginning of Y%7 P70 -
- Y7999 1PN NIPININTAT 933 |9 N1
And we have also established that regarding Xn>s9IR7 issues the rule is 779392 X.

mooIn offers various proofs that we maintain Xn°7IX72 77°72 X -
= NYWYIN 2292 122P09D (x,nv 91 N2 HIDN 91027

" When two brothers inherit their father’s estate and then divide it, we can either assume that they are w7 and
each son took his share which rightfully belongs to him (this will be called 77°72 ©°), or we can say (the view of "
131°) that we are not sure which share belongs to which son (77°72 X), rather when dividing the estate the two
brothers agree that whichever portion falls to each one, they agree to relinquish their right in the part which the other
brother took, in exchange that the other brother will relinquish his part in which he took. In short they are bartering
or exchanging their portions which is the equivalent of buying and selling. If we make this assumption they will
need to return the fields to each other on 22 (since they ‘bought it’ from each other) and make a new division. None
of the brothers who inherit are considered true owners of the fields since they only have a n17° 1P in it.

* This means he was a sole heir and his father was a sole heir etc. up until ¥&1 so there never was any sharing of
the inheritance. However when there are multiple heirs they are all mmp? and only have a n11° PIp in the property
and if N7 3P is no like 737 P3P, no one can say (regarding his property) *2 nn1 7wX (since he does not own it; he
only has a 170 PIp).

? 9" and *"" are referencing the 71wn which states that if a father wrote over his assets to his son 70" X1 a7, in
which case the son owns the ¥ppi 713 and the father owns the m°s (until he dies), and neither can sell the property
while they are both alive. In a case where the son sold it while the father was alive; >" maintains the it is not sold
even after the father died since *»7 7337 1°3p2 NM7%d 1717 the son had no right to sell it. 9", however maintains that it is
a valid sale, since 17 717 P12 W2 M’ PIp, so the buyer can keep it after the father (who currently has the right to
eat m1°0) dies. This is one of three cases where we rule like "7 against *".

* The ruling regarding 9> 1rix whether they are Tw1 or mmp depends respectively whether 772 W or X
7773, and since we rule 7712 X the ruling is also that 17 mmpL Wponw v (see footnote # 1).
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For in the end of r72°2 no>%» we rule like X''9 that 77°72 X X072 -
- (3,30 91 PYITPT 72 P9 YA NP 53572 1PIND (3 mama) )9 NPT 1IN 2

And regarding 1''%, whose rulings we follow in monetary issues, states in the

beginning of the second =2 of > w7R NdON -
- PPN NI CMNWYN MNS MNPY 1A 397 1PINY DINNN

The brothers who divided an estate are considered like nymp® in this regard [as

well] that if the assessment was off less than a sixth, the sale is accomplished -
- SAT 99 AT 797 119 PNRT (4,70 97890 N32) PN NN 999N 3133 5P D)

And in 027 X 99177 275 we also rule that brothers who divided the estate have

no claim of right of way, one on the other; the reason is -
- %0 mMpY *xnoN 299 Tnys pya 99m

For one who sells, does so with a ‘(bad) [good] eye’; it is evident that 151w 0onR
are nymps.

mooin addresses various challenges to his assertion that we maintain 17 mmp>:
- Zrymy9nm 190 9RT 299 o4tp 91 0wy N 193 P93 14P0T XY

And regarding this which we rule in 91> n%2 P99 like 29 who maintains the
division is nullified —

> When buying or selling, if the price is les than a sixth more or less than the market price, the sale is valid (for
people forgo such a small difference). In any even we see that 1" maintains that the o°nx are Mmp> and all the laws
of buying and selling apply to them.

® Let us assume that there was two fields adjacent to each other; an outer field by the road side and an inner field,
which has no direct access to a road except via the outer field. The son’s divided the two fields. The one who
received the inner field has no claim of right of way to go from the road to his field via his brother’s outer field
(even though their father obviously did that). The owner of the inner field must purchase his right of way from his
brother (the outer field).

" The 2"w"nn amends this to read 719°' (instead of 71y7). See X"wAmn.

¥ We assume that the brothers, when dividing, are really exchanging their shares in the respective fields. The owner
of the inner field 11v»W is selling the owner of the outer field 12187 all his interests in the outer field, in turn that j21%7
is selling to wnw all his interests in the inner field. We say that 1w»w is selling his share to 79> 1¥2 12187, that he is
giving 1wnw everything in the outer field, including giving up the right of way to go from the road to the inner field
through the outer field.

’ What is relevant to us is that we consider the division as a 71°32; buying and selling, meaning that onw RN
71 MmpR

' In any event it is obvious that we rule *»7 9137 17322 > M7 P3P and we also rule 17 MMPY WPoRw PR, so we have
this (same) problem (like 73171° "7) how can anyone bring 0°113°2?!

"' The case there is when two brothers divided their father’s estate, and then their father’s creditor took away one field
(from 723%7), for his debt. The rule according to 27 is that the original division is nullified, and they have to redivide all
the assets which are left in the estate that the 719 did not take (even the share which 1wnw took). The X m3 explains the
reasoning of 27 is because he maintains that 177 w1 Wonw v (therefore the obligation of paying the debt is on [the
property of] both brothers equally). See the 2"awA there NMMpP25 7" 7 w1 7"7 for a more detailed explanation.

2 The X3 concludes there that the 7397 is according to 217, since 17 7wAY. This contradicts the which msoin
maintains that 377 NP5,
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mooin replies:
= NINNa 135'\1!‘\1‘,759 77 DIYN NIN NN 1PYIT DIVN IND

The reason of 27 why np1onn 7902 is not because they are w=1, but rather

because they are considered as buying with a guarantee -
- 21519155 912195 RN WM PUN IND 39 IRDT PYI

And this which 39 says that they are w1, it does not mean actual w9, but

rather it means like w9y -
- (4,0 97 NP NA2T NP 9992 591 135093 £3990 21929

And in most text in the first P95 of p''3 it reads this way; w3 (but not pwv).

mooIn addresses a related contradiction:
= WNN 12U 1397 191 PYUII IN 1D NPODN) 151‘.7151‘\’ 9INRT YON 29 Y9

However "oR 39 who maintains that they divide the loss, for he is unsure

whether they are mmp55 or whether they are @9, there it means actual 299

(not N1NR2 MMPYI) -
- WN S8 89 Wn 7533 ounn 41 mman 09193 ¥ 9993 AT

As is evident in 7122 @ P99 regarding, ‘five but not five halves’. On the other hand -
- 50X 29 13990 INY 11 MNP 1PINY PANRD 13NI% 539 9N SON 529

''1 2R KR''Y maintains 37 DPR PR PRI, which would seem to contradict this
which °0RX 27 said 17 PP R °% Xpoon. We must answer that “oX °27 is not the
same as "oR 21 -

3 Let us assume 17 MmP? Womw prNa. The n'"va took away s'1287 field. This field belongs to 12181 because 1wnw sold it
to him (in exchange for his field which 721%7 sold to him). 1287 comes now to 1W»w saying the field you sold me was
taken away from me. In a regular case if a "2 takes away a field from a 12 and there is no nnX (the seller did not
guarantee the sale), the n2 loses. Here too if we consider 7w 2°nR7 as NnR2 Xow mmpb, then j23%7 has no
recourse; he bought a field and it was taken away from him. However if there was nN1"nX, so j2187 can go back to the
seller and make him pay for this field which was taken from him. In our case also we assume (according to 27) that they
are NYINR2 NMPY2, so if the 7191 took away 127 field, Wwnw has to make good (by redividing all the assets anew).

4 The reason 21 says w7 and not N1INR2 MIMPY, for if it was (merely) like N1 R MmIP? then Nwnw would be able
to pay off 12" for the value of the field taken away by the m7»n. However 11 maintains that here they are like 1w
so they need to divide anew (see 2>w71°3 11"7 X,0 "2 '01N) .

!> This is in this same case where the n1"v2 collected the field from one of the brothers.

'® The case there in the mwn is when a woman gave birth to her firstborn twins and the father died before he
performed a 7277 17°75. There is a dispute between 1" (who maintains that the sons are not obligated in 2"7779), and
>"9 (who maintains that they are obligated).

"7 The X3 there establishes the npYom» in a case where the entire inheritance was exactly five 0°v90. We assume that
both *"71 n"7 agree with "oX 217 that the inheritance is considered half 7217 and half a purchase. We also agree that
an oral loan (like the obligation of a 2"7779) can be collected from the 1"w11 but not the mmpP?. Since their inheritance
is MMpPY mxm 0w ¥y, therefore only two and a half o°¥%0 (or o°v70 wnn *xn) is collectible. n"2 maintains wnn
wnn oxn X9 (therefore they are 11w9), while *"1 maintains wnn *Xn 12°0K81 win (therefore they are 2>1). See there for
more details. It is obvious (from the underlined) that 1°w91 there must mean wan P,

'8 50X 27 maintains M7 WA PO PPN 1R however “OX °27 maintain 37 MMPY.
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= 1%29F XD AT RN 29) ON
Or you may also say; one is his ruling (17 w2 °k 7% Xpoon), and the other
(37 mmPY) is his teacher’s view (1M '3 7K X"), so there is no contradiction.

nooIN discusses an additional contradiction:
= APYS 12 MYIYN 299 (3,m 97 PAMYN P92 09732 19PDOT XM

And regarding this that we rule like °''aR= in 29972 N>0» in P2 PID -
- 9805 93995 91T N AT ANIN IV Pamva

In connection to the case of partners who vowed not to derive benefit from

each other, the view of °"2X7 is that they may enter into a courtyard which
belongs to both of them —

mooIn responds; the 715977 indeed is like °"ax"; however -
- (3,00 97 x0p x23) 199D P93 N7 N3 BIVN NINAYOT NYNAYON INY

It is not because of his reason, for his reason for permitting them to enter into

the %1 is on account of 777992 ©w» as is evident in 79577 P9D; that however is not the

reason we rule like °"ax" -
- ANIN VTN I (3,1 97 xama x22) DINAN NPINA K% NI TNNNT DIV NN

However the reason we rule like >"aX" that they may enter the 1"omw: 71X is because
of 10" as K921 states in 7' 279, and 710 is permissible even by a AR A7,

In summation; Moo has proven the we maintains 7 MMpPY WPHIWw PRI, and  PIPd W M0 PIp
M7 7177, so how can we reconcile this with the bringing of 2>m1>°2.

N1B0IN answers:
- Zyrpb 1399 19 NP NN INNYY BHN 1325 MM NTINY NONNA RPITT 91219 W

And one can say; that it is specifically in that case alone, where he wrote over

his assets to his son 710 AR a7, that we rule like ' -
- 951 MINN X2 5239 KINT DIVN T 9901 1373 INT

' The issue there is when one partner enters the 1%, is he entering his part or his partner’s part. This will depend
whether 77772 w° (so we can say that he is entering his part) or 7772 7°X (in which case he is not necessarily entering
his part). >"2X7 maintains that each one may enter; indicating that he maintains i17°72 v°. However if we maintains ©°
77°93, the rule should be 371 WA 20w PRI (not 37 MMPY as M0IN maintains). How can we reconcile that the 7597
is like v"ax7 that 77972 v and still maintains 37 MmP°?!

2 The X3 there compares another NP12mn between 13127 22X to the np1onn of Ponw: 2x¥n, that in both cases the
reason of *"2X" is because he maintains 77712 ¥°.

! 390" here means forgoing or overlooking one receiving a minor benefit (even though you vowed that he should
not benefit from you). The benefit received by walking on my ground is insignificant and people generally do not
include this when they are X7 27,

2 See footnote # 3.
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That M7 737 is not like 97 1ip, because a father in regards to his son> gives
up his rights that he has in the 71 on account of his M7° —

mooIn proves that this is a valid reason why here there is this exception:
- 2001 RONT WIPY W 9910 SINY (3,55 41 ow) S PINN YW 9993 90 98 Y9N

For this is how the X7»3 in 15m1 w> 19 explains the necessity”’ for %''1 stating

his two rules here and there -
- 514 9937 193957 )9 81D XYY YaN

But generally we establish the rule that 27 3137 3%3p2 N9 1PIp -

mooIn responds to an anticipated difficulty:
=991 1199 N0 NI NAD WY WD 19D 5999010 RNINDI XIP N2 ¥xon NPT 2 HY 9N

And even though that X2 states here that the »1o2 and the Xn»12 support '
(that by M7’ 1ip the rule is RMp WX X0, since it is M7 AT PIPD WY),

nevertheless 829 does not agree to 7" that »7 7135 11p5 WY -
— (a,3n9m PYITPT /2 7992 P10 MNPY 920 K297 19939 1975 XN XY 19 XY ONT

For if you will not say so (but rather that he agrees with 5" that 7 7137 1712 1X?),
%27 will not find %37 197, since X2 maintains in the second p=p of 27R nNoon
that 37 nmP» 1P5nY PIRD -

moon will prove that even though X217 states 5"1% % ¥°°01m Xn*anm X1, nevertheless &2 does not

necessarily agree with 5"
= DNIHNN 1 DY NIPVUN 22) 219 KA YINP (x,nn 97 xwsn xaz) AN P992)

» Really it should not be a sale, since the father has a M7 3P in this field, and generally M7 1Ip is 77 1Ipd,
however in this case the father out of caring for his son will be %r his right to void the sale and agrees that the sale
should be effective.

* There the xm3 cites the above mention NP> between 9" *"1 regarding the son selling it while his father is
alive. The X3 asked but 9" > argue elsewhere regarding whether 7 7137 1Ip2 NM17%0 1Ip, in a case where a field
was sold only m1°9?, where >"1 maintains X1 X*2% (since M7’ is 77 PIp3) and "1 maintains Xp 1KY X271 since
M7 AINT TIP3 W?; so why repeat the same npY7nn twice.

% The case of o™ M7 (see footnote # 24).

% The case of 2877 »12 1271 191 (see footnote # 3).

275" explains that even though generally "7 9337 132 N1 1Ip, nevertheless it was necessary to state the case of
1277 790, since I may have though that in that case the sale is valid (as 2" rules) since the father is 2 for his son.
We see that even >"1 concedes that by the case of 72i1 701 that the rule could be that it is a valid 77°2n. We take it a
step further and use the X720 of "1 that indeed in this case it is a valid 777°9n, but not because 7137 1°1p3 W2 NM"D PIp,
but only since the father is 7m even though that *»7 7337 1Ip3 M0 PIp.

% Therefore even though we maintain that 77 nmp? WP2nw onRa (they only have a Mo 1°1p), nevertheless since 1P
n7 77 they are RNPY X227,

* On the very bottom of this Tv.

%0 %27 was qualifying the ruling of 121 27 that 7 MMP> Pomw PrxA regarding 7XIK (of a Mnw). X2 stated that this ruling is
only if he did not make the assessor a °2w. It is apparent that he agrees in principle with 1" that they are mmp5.
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And in 277177 P95, where K21 also states regarding the view of 2" that 79w PIp
is explicit® in the hyn -
- UPY WY 1YY 5YSD NN NIP

The 7105 and the Xnv12 support »''1 that 7>wn is 0" P -

- (619 97 MmN CNDIN 92 1IN 5399 NP NIYT 23 YY 9N
Even though that 839 always agrees with >''9 except for three cases where we rule
like 9", we see that even though he say "% 7°% ¥>°01n X1 R1p, nevertheless he disagrees with
"9 and maintains n"7n AP Myn like °"9. We can say the same regarding Mo 1Ip.

This is mooIn first answer that we maintain 37 MMpPY; however we also maintain 3°1P> N17°D 11
"7 717 therefore the w71 may be X121 X*2n.

MooIN now offers an alternate solution:
= 9252 NY NT PIINNT ND NN JINIY 229 NPITT 9D W N

An additionally one can say; it is specifically only >''5 who maintains that the

brothers must return the properties to each other on %21 and redivide them since x>
"7 AT IR -

= 1995109 1PN )N MNIPHT 2) DY N 2920 DINIININ INY JaN
However the rest of the 2°871»X maintain that even though 37 nymp» (since

7772 X N'"7n), nevertheless 9212 191 PR PN -
- 29591 AN XOWNY Y MINNY AU 117557 NIN 9NRT XID 9917

For only by a sale did the ;7170 state that it must be returned, but not by 2=
;anm2 so therefore it works out —

nvoIn asks:
- FannAN A7V NNAYN XY 1N Y2922 Y OY 129510197 13N 2299 9NN ON)

And if you will say; according to '3 that the heirs return the properties to each

other on %21, you will never find a case of a ;1778 7w -
- 293059 PYNNN 89 NP0 N1Y 19N 17919

3 13M° "1 maintains that n"7» money is AP, while WP w1 maintains that 73°wn is 0" a1p.

32 This statement was made by X271 there that non *372 2"7 "3 Xn27, but not in any other npY2ma.

* Even though 177 MYMPY PR but since 197 177117 1°X they have a 7737 PIp so whether we maintain that 1°p5 N7 93P
137 or not it makes no difference they are always X711 X°21 since they have a 77 132 (for 137117 1X). This answer
removes the slight difficulty that 27 stated "7 7% y>>on ®naanm &p.

* There are different laws prescribed in the 770, whether one is w>7pn a AR 77w (a field which is inherited for
generations) or a mIpn 77w a field which one bought (to keep until 921).

3 1If no one redeems a INAR 77w from w7pn, the rule is that when 521 comes the field is given to the 0°375 of that
mwn (the owner has the right to be w*7pn if for posterity since it is his completely). However if no one redeems a
m1pn aTw from wpn, when %2y arrives it goes back to the original owner (for the buyer of the 73p» 77w only has a 1°1p
m9 in the field until %2v; he cannot be w>7pn it forever).
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For all fields are considered as a im@» 77w and it will not be divided amongst the 2537 -
- 7q05 9pw orwnna *ormyY MmN ¥a1 H%a XYY 1WA 1119 BN

And also it will be redeemed from w7p7 for its worth, but not according to the
assessment of 2y "2 ¥a1 noa for fifty silver 2vvpw —

MooIN answers:
SIMNN NTY NIN MIPN NTY N2 1597 KT HINN T NN 1 HNNT 1153 995 v

And one can say; since that instead of this field which he received from his
father’s estate, another field from his father’s estate will be returned to him; it is
not considered a mp» 77w, but rather a 710N 77W!

Summary
Generally 7737 1°322 N7 PIp except where the father (who has M1 1°3p) is 2mn to

the son (who has a7 71Ip). Alternately, although we maintain 371 mmpo,
nevertheless 92172 121 PN PX.

Thinking it over

Why according to 7371 "1 that since 7137 1322 M7’ PIP one may bring 0372, even
though 17 MmpPYH, so we should apply it to A1AR 77w as well that since 7 7137 PIpd
it is considered a omnx 77w ?1®

T oY N7
We shall return to you
T P
skskeskeskosiesiesesiesesesiesiosksk
QIPIW I NI
2OPND TYAIR MDD WA
AT TV RN
7910 DM narya

3% pww i vAr nea s the area needed to seed a M (thirty 7x0) of barley. One who is w>7pn a 711X 7w can redeem
it for this amount proportionately; if he has a field that is half a 0™Www 1 n°2, he redeems it for twenty five 2°opw,
if his field is two 21w 91 n*2 he redeems it for a hundred a°%pw. This is a price fixed in the 7710 (in [Mpna] R1p7
1,19), for one who redeems his field immediately after 921, regardless of the actual value of the field. However
when one is W>7pn a 7apn 77w, it is redeemed for its market value.

7 mpoin is asking that the whole rule of Annx 77w will (almost) never happen according to >3, since 7212 "1 11
it is considered a mipn ATW.

* See x"wn.
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